
Choose the best answer that shows what part is shaded.

23 
100

100× 23%=
27 
100

100× 27%= 36 
100

100× 36%=

34 
100

100× 34%=
21 
100

100× 21%= 22 
100

100× 22%=

Answers
Write the decimal and percent for the shaded part.

Find the percent of each number. Round all answers to the nearest whoole number.

10. 11. 12.

13. 14. 15.

1. 2. 3.

4. 5. 6.

A. 47.36%
B. 52.63%

A. 58.82%
B. 41.17%

A. 68.18%
B. 31.81%

7. 8. 9.

10 
100

63× 6.3= 91 
100

17× 15.47=
31 
100

113× 35.03=

63 
100

36× 22.68= 77 
100

9.6× 7.392= 24
100

104× 24.96=
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